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Suppose the total cost, C'(q), of producing a quantity g of a product equals a fixed cost of $1000 plus $3

times the quantity produced. So total cost in dollars is
C'(q) = 1000 + 3q.

The average cost per unit quantity, A(q), equals the total cost, C'(q), divided by the quantity produced,

q. Find the limiting value of the average cost per unit as g tends to 0 from the right. In other words find

lim A(q)

q—70+

(a) 0 (b) 3 (e) 1000 (d) 1003 (e) The limit does not exist

‘Limits at inﬁnity‘

Find the limit  lim L
t—oo 1 4 2
(a) 0 (b) 1 (e) 2 (d) 3 (e) The limit does not exist
2?4+ x+1

Fi]].d the limit :r]i,n;o W.

(a) 1 (b) 1/3 (¢) O (d) 1/9 (e) The limit does not exist

4 2
Find the limit  lim S 15 713
s—oo 83+ 85+ 9

(a) 0 (b) 1 (e) 2 (d) 3 (e)  The limit does not exist
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